[Z£50RIKZFiZEFORE] HEEHE B

— AL HE ARE R RIE R R s

B EEES N @iﬁ;jg =
biEE B3 EAES |BBERER 1
b H4X PR | BERER 1
JbmE 55K FIHZRA AHRIR 2
B8 H6X B [EsF AHEEHE 2
biEE $B12K BT AHETE 5
dbme 7Ry 7 FHERZE HEEER 1

=i H3X EEEREEP/N AHEER 1
HE FHIX Z2REHr |EHBHEEIR 2
A $3X ENE)IMER | BHRER 1
Bk 7av s TLERRfE | AHEER 1
I AKX B 1LaLE AHEEHE 1
I 555X A BREX AHREIR 5
AR B1X fRETT AHETYE 1
BE BIX HERERE | BEBHRIER 1
BE $3K H)I1E& AHEEH 4
5F HAK TR TR AHEEHE 1
AF 10K A& HRRER 5
5F F13K =VMHE AR 6
T H6X EEE | BERER 1
T $13K NZNE1 ARRIE 1
11| AKX WAREHOA | BEHRER 1
12)1] E5X RHF Sl e 1
185l BIX ImARELh AHmRI% 1

1/3



[5250RI%RZEZ AR

EE] HBRHE—E

— AL HE ARE R RIE R R s

B EEES N @iﬁ;/fg =
151 10X HH 1= AHRIR 1
LiE FE1X PRE— Sl EX 1
HR H10X FANEAN AHRIR 0
ER 11K TRE ®|ARE 5
HR $H19X MAGF AHEEHE 1
HR $25K HEER |BHEER 1
I8 2K R E— B|ARE 4
B FEAX BEXR—BP |BBERER 5
Bl 2K (R N AHEER 1
R H2X ek |BERER 5
izt 7oy 2 EEE A HHERER 1
I 3K HREBERE |BHEREER 1
I B8 555X T EET] AHRIR 0
£4fA B3 =E BT EFFE 1
B BT IS Sl EXo 6
M 1K REE#E HEHRER 1
BN AKX THE= |BHRIR 6
FH] H5X MEAER | BERER 1
FH FHIX RIREE |8HEER 1
B 12X B WLEY ARRIE 5
B EIR HEA AHEER 2
ZE B4X AR | AHERER 8
B 7Oy Y WAL | BERER 2

2/3



ERVEIEE AT

CEE] HBERAEE B
— AL HE ARE R RIE R R s

X A& 7N @iﬁ;jg =
R BIX BsEER AHRIR 4
KB E19X HIED HEREER 1
B BTK L EHE A HERER 1
LR #2K =R H AHRI® 0
HR B3 HEBE A E | BHRER 1
K& 54X S AHERER 1
LO S AT IER AHETE 1
FE 70vy | BARBRMAKES | BBERER 1
RE 7ovs | YRIEZES | EBHERER 8
hE 70y 2 SHEX ARmRIN 3
BE F2X L aE— Sl EX 1
Fig HIX SIS E AHEEE 0
B $2KX FRARE AHRER 1
& $6X M1l — BR AHRER 1
e HE3X RAE & AHRIR 2
ek HAX ETFIZ AHRI® 1

EIRE $3X ANEE TN HERER 2
EIRE HA4KX R AHETE 5
M T By s B L F HERTE 6




